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Globalisation
Definition of Globalisation
………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………
Activity 1: Using the images, data and text on the reverse of this sheet of paper to write a list of the key characteristics of globalisation.
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Globalisation is a process of deeper economic integration between countries and regions

of the world.

Shares of World Economic Output in 2015

Percentage share of the main industrialized and emerging countries in global gross
domestic product (adjusted for purchasing power) in 2015
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The OECD defines globalization as

“The geographic dispersion of industrial and service activities, for example research and
development, sourcing of inputs, production and distribution, and the cross-border
networking of companies, for example through joint ventures and the sharing of assets."

Characteristics of globalisation

1. Greater trade in goods and services both between nations and within regions
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INTERNATIONAL trade talks have received a shot in the arm with the conclusion of the
Trans-Pacific Partnership (TPP). They certainly needed it. Growth in global trade volumes
has slowed in recent years, thanks to a tepid economic recovery from the financial crisis
and the changing structure of the Chinese economy. There has been a dearth of multilateral
trade agreements since the Doha round of rade talks fell apart. Much of the focus has
shifted to regional trade agreements (RTAs). The number of RTAs has risen from around 70
in 1990 to more than 270 today. The chart at the bottom shows some of the biggest. Of
these, the TPP is among the most significant. Once ratiied by its members—which is not a
foregone conclusion—it would fink 11 economies of the Pacific rim—including Japan and
Singapore—with America. These 12 countries together account for 40% of world GDP and
one-third of trade. Meanwhile, the Transatlantic Trade and Investment Partnership (TTIP) is
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Although Latin America and the Caribbean saw overall positive growth in FDI
inflows, it was mostly due to Central American growth despite a 6% decline in

South America.

The chart below looks at the top host countries for FDI in 2013. United States
stays as the top country with £188bn investment after growth of 17%.

Top 20 host countries for FDI inflows 2013 (£Em)

‘The percentage figure next to the country name indicates the percentage growth on 2012
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Other countries showing growth in inflows included Russia (up 57%), Spain (up
52%) and Mexico (up 117%). The UK was down 20% on 2012, which goes against
the general growth in the European region.

Italy, grew by a massive 1,174% year-on-year, which was partially down toa

Welcome to the Guardian. This site uses cookies. Read our policy.
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Appendix 1

Characteristics of globalisation

1. Greater trade in goods and services both between nations and within regions
2. Anincrease in transfers of capital including the expansion of foreign direct investment (FDI) by
American Flags | 100% Made in the U.. trans-national companies (TNCs) and the rising influence of sovereign wealth funds

The development of global brands that serve markets in higher and lower income countries
4. Spatial division of labour for example out-sourcing and off shoring of production and support
_— e services as production supply-chains has become more international. As an example, the iPhone is
part of a complicated global supply chain. The product was conceived and designed in Silicon
Valley; the software was enhanced by software engineers working in India. Most iPhones are

Related images assembled / manufactured in China and Taiwan by TNCs such as EoxConn

5. High levels of labour migration within and between countries

6. New nations joining the world trading system. China and India joined the WTO in 1991, Russia
joined the WTO in 2012
7. Afast changing shif

in the balance of economic and financial pewer from developed to emerging

economies and markets —i.e. a change in the centre of gravity in the world economy
Increasing spending on investment, innovation and infrastructure across large parts of the world

9. Globalisation is a process of making the world economy mere inter-dependent

[l

10. Many of the industrializing countries are winning a rising share of world trade and their economies
are growing faster than in richer developed nations especially after the global financial crisis (GFC)





[image: image22.png]» -

o [ Tr———y O [ —— —

File Edt View Favorites Tools Help

We use cookies - close to accept. or learn more learn more  close message
ey WOUIG Nave WITNOUT the TariIT. HOWEVET, IS lIkely tat tere IS an overail

net welfare loss.
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The imposition of a tariff shifts up the world supply curve to World Supply +
Tarif

The price rises to P2, and the new output is at Q3. Domestic producers share of
the market rise to Q4, and imports fall to Q4 to Q3. The result is that domestic
producers have been protected from cheaper imports from the rest of the
world.

Given that domestic consumers face higher prices, they also suffer a loss of
consumer surplus. In contrast, domestic producers increase their producer
surplus as they receive a higher price than they would have without the tariff.
Increased market share also means that jobs wil be protected in the domestic
economy.
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The creation of a Free Trade  area was the first phase of  Economic Integration.    The Final phase is  Political  Integration   which  is   a type  of state which is composed  of or created out of  smaller   states . These supra  states may be recognised   internationally as a single  political entity.  
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'Choice' is an overused word in business. The people of Totnes rightly opted for community resilience over predatory markets. Guardian Friday 2 November,  2012
Article 2

Call centres are blamed for a rise in loose living among India's affluent new elite

Why does it take so long to get through to an Indian call centre? Because everyone is too busy chatting up their colleagues – and more – if the Catholic Church is to be believed.

Why does it take so long to get through to an Indian call centre? Because everyone is too busy chatting up their colleagues – and

more – if the Catholic Church is to be believed.The Church is so concerned by evidence that call centres are becoming dens of iniquity that it is offering week-long retreats and counselling, in the hope of turning staff away from a life of sin.

Employees who are young, usually single, and on starting salaries much higher than those of doctors or lawyers, India's booming call centre industry has been responsible for a social revolution. "Women come to work with condoms in their handbags," said Alkesh Dua, a call centre worker in Noida, just outside New Delhi. "Everyone is doing it. You're together all night in this cool, hip atmosphere and you end up getting intimate."
Article 3

PARIS— It has been three-and-a-half months since the government demanded at least 40 percent French-language programming by most private music-oriented radio stations, and so far, the worst fears of station managers and on-air personalities have yet to materialize.

The law was adopted in February 1994 to combat what Paris perceived as the growing influence of English-language songs on French radio stations — notably those, such as Fun Radio, Skyrock and NRJ, that feature a rock 'n' roll format. Such stations previously devoted "as little as 15 percent of their airtime" to French artists, said a spokesman for the Conseil Supérieur de l'Audiovisuel, the French media-watchdog agency. New York Times, 1995
What are the causes of Globalization?

Trade in goods & services

· Improved transport has made it easier to transport goods to overseas markets.
· Developing countries have a cost advantage in the production of manufactured goods. 
· Technological development (Telecommunication and IT ) have increased the ability to trade services with one  another. E.g India has become a world leader in software and then sells these skills to companies in more developed countries.
Containerisation – the costs of ocean shipping have come down, due to containerization, bulk shipping, and other efficiencies. The lower cost of shipping products around the global economy helps to bring prices in the country of manufacture closer to prices in the export market, and makes markets more contestable in an international sense.

Trade liberalism
· Since 1945 countries have increasing abandoned protectionist trade policies.
· Development of organisation such as the (WTO) World Trade Organisation  and (GATT) General Agreement on Tariffs and trade
· Opening up of global financial markets: This has included the removal of capital controls in many countries facilitating foreign direct investment
Multinational companies ((MC) or Transnational corporations 
· The growth of Multinational corporations has been a driver of globalisation.
· These companies operate across the globe and benefit from Economies of scale.
  Communication and IT Development 

· Developments in communication and information technology have speeded up communication between economic agents. 

· For example in software production, a programmer does not need to be in close proximity to the client. The client can choose from the best firms wherever they are based.

Activity 2: Watch the clip and write down the advantages and disadvantages of globalisation.
https://www.youtube.com/watch?v=12YDLZq8rT4   (Norberg)
https://www.youtube.com/watch?v=sV7bRLtDr3E    (Joseph Stiglitz on Globalisation)

What are the advantages and disadvantages of Globalisation?

	Advantages
	Disadvantages 

	
	


Drivers of Globalisation

Among the main drivers of globalisation are the following:

· Containerisation – the costs of ocean shipping have come down, due to containerization, bulk shipping, and other efficiencies. The lower cost of shipping products around the global economy helps to bring prices in the country of manufacture closer to prices in the export market, and makes markets more contestable in an international sense.

· Technological change – reducing the cost of transmitting and communicating information – sometimes known as “the death of distance" – a key factor behind trade in knowledge products using web technology

· Economies of scale: Many economists believe that there has been an increase in the minimum efficient scale (MES) associated with particular industries. If the MES is rising, a domestic market may be regarded as too small to satisfy the selling needs of these industries.

· Opening up of global financial markets: This has included the removal of capital controls in many countries facilitating foreign direct investment.

· Differences in tax systems: The desire of corporations to benefit from lower unit labour costs and other favourable factor endowments abroad and develop and exploit fresh comparative advantages in production has encouraged countries to adjust their tax systems to attract foreign direct investment (FDI)

· Less protectionism - old forms of non-tariff protection such as import licencing and foreign exchange controls have gradually been dismantled. Borders have opened and average tariff levels have fallen – that said in the last few years there has been a rise in protectionism as countries have struggled to achieve growth after the global financial crisis.

Globalization no longer necessarily requires a business to own or have a physical presence in terms of either owning production plants or land in other countries, or even exports and imports. Many businesses use licensing and franchising to help expand their overseas operations.
Activity 3: Using the information you uncovered in activity 3, complete the table below.
	Advantages of Globalisation to developed countries 
	Disadvantages of Globalisation to Developed countries 

	
	

	Advantage of Globalisation to developing nations 
	Disadvantages of Globalisation to developing countries

	
	


Activity 4: Evaluate the following statements (do you agree? are there any down-sides or counter points of these effects?) 
a) Developed economies such as the UK should see the gains of free trade in terms of from greater competition, efficiency, lower cost of production and therefore an increase in AS, economic growth and jobs...
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b) Global Inflation should be a lot lower as a result of country specialisation (e.g. outsourcing to China)... 
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c) The UK’s Balance of payment should improve as a result of export-led growth... 
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d) Multinationals will be able to thrive in the globalised economy and provide jobs, expertise and infrastructure for developing economies and greater choice for consumers in developed countries...
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e) Producers in developing countries now have a world market to sell to and can therefore increase profits, exports and growth; as well as improving their standard of living... 
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World Trade Organisation

The World Trade Organization (WTO) is an international body whose purpose is to promote free trade by persuading countries to abolish import tariffs and other barriers. As such, it has become closely associated with globalisation.

The WTO is the only international agency overseeing the rules of international trade. It polices free trade agreements, settles trade disputes between governments and organises trade negotiations. 

WTO decisions are absolute and every member must abide by its rulings. So, when the US and the European Union are in dispute over bananas or beef, it is the WTO which acts as judge and jury. WTO members are empowered by the organisation to enforce its decisions by imposing trade sanctions against countries that have breached the rules. 

Based in Geneva, the WTO was set up in 1995, replacing another international organisation known as the General Agreement on Tariffs and Trade (Gatt). Gatt was formed in 1948 when 23 countries signed an agreement to reduce customs tariffs. The WTO has a much broader scope than Gatt. Whereas Gatt regulated trade in merchandise goods, the WTO also covers trade in services, such as telecommunications and banking, and other issues such as intellectual property rights. 

China formally joined the body in December 2001 after a 15-year battle. Russia joined only after convincing the EU and US that it had reformed business practices, and after Georgia dropped its politically-motived veto in late 2011. 

The highest body of the WTO is the Ministerial Conference. This meets every two years and, among other things, elects the organisation's chief executive - the director-general - and oversees the work of the General Council. 

The Ministerial Conference is also the setting for negotiating global trade deals, known as "trade rounds" which are aimed at reducing barriers to free trade. 

The General Council is in charge of the day-to-day running of the WTO and is made up of ambassadors from member states who also serve on various subsidiary and specialist committees. 

Among these are the Dispute Settlement Panels which rule on individual country-against-country trade disputes.

Countries that join the WTO are required to achieve sustained reductions in average import tariffs. After WTO entry in July 2012 Russia’s average import tariffs will decline from 9.4% to 6.4% on industrial goods and from 15.6% to 11.3% for agricultural goods. 
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The Uruguay Round
The Uruguay Round was the 8th round of multilateral trade negotiations (MTN) conducted within the framework of the General Agreement on Tariffs and Trade (GATT), spanning from 1986 to 1994 and embracing 123 countries as "contracting parties". The Round led to the creation of the World Trade Organization, with GATT remaining as an integral part of the WTO agreements. The broad mandate of the Round had been to extend GATT trade rules to areas previously exempted as too difficult to liberalize (agriculture, textiles) and increasingly important new areas previously not included (trade in services, intellectual property, investment policy trade distortions). The Round came into effect in 1995 with deadlines ending in 2000 (2004 in the case of developing country contracting parties) under the administrative direction of the newly created World Trade Organization (WTO).
The Doha round
The WTO launched the current round of negotiations, the Doha Development Round, in Doha, Qatar on November 2001. This was to be an ambitious effort to make globalization more inclusive and help the world's poor, particularly by slashing barriers and subsidies in farming. The initial agenda comprised both further trade liberalization and new rule-making, underpinned by commitments to strengthen substantial assistance to developing countries.


Activity 5: In the space below explain the benefits and potential drawback of a new country such as North Korea joining the WTO.
Use the information in Appendix 2 to help complete the table

	Benefits of joining the WTO


	Drawbacks of Joining the WTO

	Inflation:


	Inflation:

	Unemployment:

	Unemployment:

	Economic Growth:

	Economic Growth:

	Balance of Payments (current account):

	Balance of trade (current account):



The Washington consensus
The Washington Consensus was a term first coined in 1989 in the wake of the Latin American financial crisis and over the years it has become a highly contentious canvas on which supporters and protestors of western-style globalisation have battled. 
According to John Williamson, the economist who came up with the idea of the Washington Consensus it comprised a group of market-friendly policy prescriptions favouring the private sector including:

· Fiscal discipline - keeping control of government budget deficits and national debt
· Reallocating state spending from subsidies towards health care, education & infrastructure.
· Tax reform - widening the base of taxation and encouraging lower tax rates to boost enterprise and work incentives as a means of creating wealth
· Liberalising interest rates - allowing financial markets more freedom in setting interest rates on savings and loans and letting market interest rates allocate capital among competing uses
· Exchange rates – supports a choice of fixed or free floating exchange rates but a preference against "dirty floating" i.e. intervention to manipulate the value of a currency
· Trade liberalisation - a gradual reduction in import tariffs and other forms of protectionism – trade seen as an important engine of growth and development
· Liberalization of inward foreign direct investment - capital investment between countries
· Privatization - transferring state-owned enterprises into the private sector
· Deregulation - lowering entry and exit barriers in markets but not at the expense of necessary regulation of aspects such as working conditions and employment rights
· Property rights - protecting intellectual and other rights to encourage innovation and risk-taking
Question: Can you explain why some Economist believe that each of the above measures is likely to lead to growth and development in an economy.
Here are the profiles of two developing countries. You are an economic analyst trying to assess their development prospects. What would you say?

Country A: Until a decade ago, the country was highly protectionist, with an average industrial tariff rate well above 30 per cent. Despite the recent tariff reduction, important visible and invisible trade restrictions remain. The country has heavy restrictions on cross-border flows of capital, a state-owned and highly regulated banking sector, and numerous restrictions on foreign ownership of financial assets. Foreign firms producing in the country complain that they are discriminated against through differential taxes and regulations by local governments. The country has no elections and is riddled with corruption. It has opaque and complicated property rights. In particular, its protection of intellectual property rights is weak, making it the pirate capital of the world. The country has a large number of state-owned enterprises, many of which make large losses but are propped up by subsidies and government-granted monopoly rights.

Country B: The country’s trade policy has literally been the most protectionist in the world for the last few decades, with an average industrial tariff rate at 40–55 per cent. The majority of the population cannot vote, and vote-buying and electoral fraud are widespread. Corruption is rampant, with political parties selling government jobs to their financial backers. The country has never recruited a single civil servant through an open, competitive process. Its public finances are precarious, with records of government loan defaults that worry foreign investors. Despite this, it discriminates heavily against foreign investors. Especially in the banking sector, foreigners are prohibited from becoming directors while foreign shareholders cannot even exercise their voting rights unless they are resident in the country. It does not have a competition law, permitting cartels and other forms of monopoly to grow unchecked. Its protection of intellectual property rights is patchy, particularly marred by its refusal to protect foreigners’ copyrights.
Question 

1. How are the countries above contradicting the views of the Washington consensus?

(Hint: the information for country B is from 1870)
Appendix 1 
Characteristics of globalisation
1. Greater trade in goods and services both between nations and within regions

2. An increase in transfers of capital including the expansion of foreign direct investment (FDI) by trans-national companies (TNCs) and the rising influence of sovereign wealth funds

3. The development of global brands that serve markets in higher and lower income countries

4. Spatial division of labour– for example out-sourcing and off shoring of production and support services as production supply-chains has become more international. As an example, the iPhone is part of a complicated global supply chain. The product was conceived and designed in Silicon Valley; the software was enhanced by software engineers working in India. Most iPhones are assembled / manufactured in China and Taiwan by TNCs such as FoxConn

5. High levels of labour migration within and between countries

6. New nations joining the world trading system. China and India joined the WTO in 1991, Russia joined the WTO in 2012

7. A fast changing shift in the balance of economic and financial power from developed to emerging economies and markets – i.e. a change in the centre of gravity in the world economy
8. Increasing spending on investment, innovation and infrastructure across large parts of the world

9. Globalisation is a process of making the world economy more inter-dependent
10. Many of the industrializing countries are winning a rising share of world trade and their economies are growing faster than in richer developed nations especially after the global financial crisis (GFC)
Appendix 2
Trading Blocs and Regional Trade Agreements (RTAs)

In recent years there has been a flurry of bi-lateral trade deals between countries and the emergence of regional trading blocs. For example, the European Union now has over 30 separate international trade agreements including those with countries such as Colombia and South Korea.

Some of these deals are free-trade agreements that involve a reduction in tariff and non-tariff import controls to liberalise trade in goods and services between countries.

The most sophisticated RTAs include rules on flows of investment, co-ordination of competition policies, agreements on environmental policies and the free movement of labour.

Examples of Regional Trade Agreements (RTAs):
The number of RTAs has risen from around 70 in 1990 to over 300 now – this both reflects and reinforces a switch towards greater intra-regional trade most notably between many of the world's fast-growing emerging market economies. No regional trade agreement is the same!

The WTO permits the existence of trade blocs, provided that they result in lower protection against outside countries than existed before the creation of the trade bloc

· European Union (EU) – a customs union, a single market and now with a single currency

· European Free Trade Area (EFTA)

· North American Free Trade Agreement (NAFTA) between the USA, Canada and Mexico

· Mercosur - a customs union between Brazil, Argentina, Uruguay, Paraguay and Venezuela

· Association of Southeast Asian Nations (ASEAN) Free Trade Area (AFTA)

· Common Market of Eastern and Southern Africa (COMESA)

· South Asian Free Trade Area (SAFTA) created in 2006 with countries such as India and Pakistan

· Pacific Alliance – 2013 – a regional trade agreement between Chile, Colombia, Mexico and Peru

· Trans-Pacific Partnership (TPP) - a proposed free trade agreement being negotiated during 2013 between Australia, Brunei, Chile, Canada, Malaysia, Mexico, New Zealand, Peru, Singapore, the United States, and Vietnam

General notes on regional trade blocs
Trade blocs are usually groups of countries in specific regions that manage and promote trade activities.Trade blocs lead to trade liberalisation (the freeing of trade from protectionist measures) and trade creationbetween members, since they are treated favourably in comparison to non-members. However, trade diversion away from
non-members is also likely to occur, especially if protectionist measures are imposed against non-members. Trade diversion contradicts the aims of the WTO and distorts comparative advantage

International Trade: Absolute and Comparative Advantage.

Activity 1 

Look at the table below and decide which section of the Balance of Payments account has been affected and whether money is flowing into or out of the UK.

1. An increase in the amount of imported cotton from Pakistan

2. Ray Parkinson receives an unexpectedly large dividend from the $10,000 of Apple inc shares that he owns.

3. US citizens who have purchased shares in the highly successful British company lets loop.com

4. Ray Parkinson a wealthy retired teacher from East Sussex decides to buy shares in Toshiba.

5. A devastating tropical storm leaves Haiti badly damaged. The UK Government send £100m of Aid to help relieve suffering.

Activity 2

Absolute advantage: where a country using a given set of resource inputs is able to produce more than other countries with the same input.

In the example below each country has the same amount of resources and is able to produce the output in the table below. Assume that the only resource is labour and that each country has 10 units of labour, 5 units devoted to car production and 5 units devoted to making guns.

	Country
	cars
	guns

	
	
	

	Phantasia 
	30
	50

	Eastasia
	10
	300

	Total
	40
	350


1. Which country has the absolute advantage in the production of 

(a) Cars


(b) Guns

Activity 3

Use the table below to show what would be the outcome if each country decided to specialise in the good for which they had an absolute advantage.

	Country
	cars
	guns

	
	
	

	Phantasia 
	
	

	Eastasia
	
	

	Total
	
	

	
	
	


Through specialisation and trade, output of both goods increases and (if terms of trade permit) then both could end up with more of each good.


Comparative advantage

Absolute advantage only explains a small part of international trade. COMPARATIVE advantage is far more important. Comparative advantage is when a country can produce a good or service at a lower opportunity cost than another country. Remember, opportunity cost is the cost of a decision to allocate resources in terms of the next best alternative use to which the resources could have been allocated.In simple terms, opportunity cost is the cost of something in terms of what you have to forego to get it.
Activity 1: Assume that both countries have the same amount of resources and that they devote half their resources to the production of bread and bananas.

	
	Bananas
	Bread

	Country A
	200
	200

	Country B
	80
	160

	Total
	280
	360


1. Which country has an absolute advantage in the production of bananas?

2. Which country has an absolute advantage in the production of bread?

3. In the table below use numbers to show the opportunity cost of producing bananas and bread in both countries (table 1)

4. Should these countries trade? Use numbers to explain your answer, complete box below (table 2)

	Opportunity costs 
	Bananas in terms of bread
	Bread in terms of Bananas

	Country A
	1 Banana = 1 bread
	1 bread = 1 banana

	Country B
	1 Banana = 2 bread
	1 bread = 0.5 bananas


Table 2 

	
	Bananas
	Bread 

	Country A
	
	

	Country B
	
	

	Total
	
	


Activity 2 

	
	MP3 players 
	Personal computers 

	Country A
	4000
	2000

	Country B 
	2000
	500

	
	
	

	Total
	6000
	2500


Using the pre specialisation table below to answer the following questions:-

1. Which country has an absolute advantage in the production of MP3 players?

2. Which country has an absolute advantage in the production of personal computers?

3. Which country has a comparative advantage in the production personal Computers?

4. Which country has a comparative advantage in the production of MP3 players?

5. In the table below use numbers to show the opportunity cost of producing MP3 players and Personal computers in both countries (table 1)

6. Should these countries trade? Use numbers to explain your answer, complete box below (table 2)

Table 1 

	
	MP3 players in terms of Personal computers 
	Personal computers in terms of MP3

	Country A
	
	

	Country B
	
	


Table 2 

	
	MP3 
	Personal computers 

	Country A 
	
	

	Country B
	
	

	Total 
	
	


What are the limitations of the theory of comparative advantage?
Hint: This works well in theory, however why might this theory not work well in practice?
Benefits and Drawbacks of International trade.

	Benefits of International trade to developing nations
	Drawbacks of International trade to developing nations 

	
	

	Benefits of International trade to developed nations
	Drawbacks of International trade to developed nations 

	
	


World Trade Organisation

The World Trade Organization (WTO) is an international body whose purpose is to promote free trade by persuading countries to abolish import tariffs and other barriers. As such, it has become closely associated with globalisation.

The WTO is the only international agency overseeing the rules of international trade. It polices free trade agreements, settles trade disputes between governments and organises trade negotiations. 

WTO decisions are absolute and every member must abide by its rulings. So, when the US and the European Union are in dispute over bananas or beef, it is the WTO which acts as judge and jury. WTO members are empowered by the organisation to enforce its decisions by imposing trade sanctions against countries that have breached the rules. 

Based in Geneva, the WTO was set up in 1995, replacing another international organisation known as the General Agreement on Tariffs and Trade (Gatt). Gatt was formed in 1948 when 23 countries signed an agreement to reduce customs tariffs. The WTO has a much broader scope than Gatt. Whereas Gatt regulated trade in merchandise goods, the WTO also covers trade in services, such as telecommunications and banking, and other issues such as intellectual property rights. 

China formally joined the body in December 2001 after a 15-year battle. Russia joined only after convincing the EU and US that it had reformed business practices, and after Georgia dropped its politically-motived veto in late 2011. 

The highest body of the WTO is the Ministerial Conference. This meets every two years and, among other things, elects the organisation's chief executive - the director-general - and oversees the work of the General Council. 

The Ministerial Conference is also the setting for negotiating global trade deals, known as "trade rounds" which are aimed at reducing barriers to free trade. 

The General Council is in charge of the day-to-day running of the WTO and is made up of ambassadors from member states who also serve on various subsidiary and specialist committees. 

Among these are the Dispute Settlement Panels which rule on individual country-against-country trade disputes.

Countries that join the WTO are required to achieve sustained reductions in average import tariffs. After WTO entry in July 2012 Russia’s average import tariffs will decline from 9.4% to 6.4% on industrial goods and from 15.6% to 11.3% for agricultural goods. 
The Uruguay Round
The Uruguay Round was the 8th round of multilateral trade negotiations (MTN) conducted within the framework of the General Agreement on Tariffs and Trade (GATT), spanning from 1986 to 1994 and embracing 123 countries as "contracting parties". The Round led to the creation of the World Trade Organization, with GATT remaining as an integral part of the WTO agreements. The broad mandate of the Round had been to extend GATT trade rules to areas previously exempted as too difficult to liberalize (agriculture, textiles) and increasingly important new areas previously not included (trade in services, intellectual property, investment policy trade distortions). The Round came into effect in 1995 with deadlines ending in 2000 (2004 in the case of developing country contracting parties) under the administrative direction of the newly created World Trade Organization (WTO).
The Doha round
The WTO launched the current round of negotiations, the Doha Development Round, in Doha, Qatar on November 2001. This was to be an ambitious effort to make globalization more inclusive and help the world's poor, particularly by slashing barriers and subsidies in farming.The initial agenda comprised both further trade liberalization and new rule-making, underpinned by commitments to strengthen substantial assistance to developing countries.
International trade and protectionist policies
Starter: Write a short explanation of why each of the policies below is a protectionist policy

Tariffs:

Export Subsidies: 

Embargoes:

Quotas:

Task 1 

Explain the benefits of international trade, using the concept of absolute advantage.

(Use a table to support your explanation)
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Task 2 

Explain the benefits of international trade, using the concept of comparative advantage. 

(Use a table to support your explanation)
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Different forms of protectionism
· Tariffs - a tax or duty that raises the price of imported products and causes a contraction in domestic demand and an expansion in domestic supply. For example, until recently, Mexico imposed a 150% tariff on Brazilian chicken. The United States has an 11% import tariff on imports of bicycles from the UK.

· Quotas – these are quantitative (volume) limits on the level of imports allowed or a limit to the value of imports permitted into a country in a given time period. Until 2014, South Korea maintained strict quotas on imported rice. It has now replaced an annual import quota with import tariffs designed to protect South Korean rice farmers. Quotas do not normally bring in any tax revenue for the government

· Voluntary Export Restraint – this is where two countries make an agreement to limit the volume of their exports to one another over an agreed time period. Sometimes this is enforced by a government for example the USA enforced VER on Japan during the late 1980s

· Intellectual property laws e.g. patents and copyright protection

· Technical barriers to trade including product labeling rules and stringent sanitary standards. These increase product compliance costs and impose monitoring costs on export agencies. Huge vertically integrated businesses can cope with these non-tariff barriers but many of the least developed countries do not have the some technical sophistication to overcome these barriers.

· Preferential state procurement policies – this is where a government favour local/domestic producers when finalizing contracts for state spending e.g. infrastructure projects or purchasing new defence equipment

· Export subsidies - a payment to encourage domestic production by lowering their costs. Soft loans can be used to fund the dumping of products in overseas markets. Well known subsidies include Common Agricultural Policy in the EU, or cotton subsidies for US farmers and farm subsidies introduced by countries such as Russia. In 2012, the USA government imposed tariffs of up to 4.7 per cent on Chinese manufacturers of solar panel cells, judging that they benefited from unfair export subsidies after a review that split the US solar industry.

· Domestic subsidies – government help (state aid) for domestic businesses facing financial problems e.g. subsidies for car manufacturers or loss-making airlines.

· Import licensing - governments grants importers the license to import goods.

· Exchange controls - limiting the foreign exchange that can move between countries – this is also known as capital controls

· Financial protectionism – for example when a national government instructs banks to give priority when making loans to domestic businesses

· Murky or hidden protectionism - e.g. state measures that indirectly discriminate against foreign workers, investors and traders. A government subsidy that is paid only when consumers buy locally produced goods and services would count as an example. Deliberate intervention in currency markets might also come under this category.
Task: Below are arguments that have been used to justify protectionist policies. For each of the reasons outlined below suggest an evaluative point.

	Reason for Protectionism 
	Evaluation

	The infant industry argument: protecting a young industry which may not be able to survive fierce foreign competition, especially in the face of large start-up costs. Once the industry is established it can then be opened up to competition. 


	

	Job Protection: to protect domestic jobs and employment. If protectionism is used then it can stop imports from taking domestic customers and therefore there are more profits for domestic businesses, who can maintain employment levels.


	

	Dumping: to protect against unfair foreign competition, where goods are dumped at less than cost price by foreigners into a domestic market. Dumping may occur as foreign firms cannot find a market for their goods, they have excess capacity or to deliberately destroy domestic competition.


	

	To correct a severe Balance of Payments problem: reducing imports into a country thorough the use of protection policies can improve the current account of the balances of payment (i.e. can correct a balance of payments 


	

	Cheap Labour Arguments: some high labour cost countries may protect against ‘unfair’ competition from lower wage countries. They may therefore put protectionist measures in place to make the market fairer, such as putting a tariff on to increase the price of imports from that country. 
	

	Reason for Protection
	Evaluation

	The Sunset industry argument: protecting an older industry from overseas competition. Thereby minimizing social and economic costs of unemployment.


	

	Strategic reasons: Self-sufficiency, Politically it is often argued that that protection is necessary for military and strategic reasons to ensure that the country is relatively self-sufficient in vital foodstuffs, energy and raw materials.
	


Hints: Use the information below to help you fill in the spaces above.

BUT…
- Cheap labour is their source of comparative advantage: surely that is fair
- Misallocation of resources if domestic consumers are forces to buy from high wage domestic economies
- Resources could be better used in areas where the high labour cost country has a comparative advantage e.g. high skill manufacturing & services.
BUT…
- Although workers & manufacturers benefit, consumers will have less choice and higher prices
- Will there be retaliation by foreign firms and the gains from comparative advantage be lost?
- Can workers find jobs in other industries without using protectionism?
BUT… 
- Is dumping that bad: although producers suffer loss of profits/wages this may only be short-term with little impact on employment and consumers do benefit from lower prices as a result.). 
BUT… 
- Will the Government pick a good industry to support (will it pick a winner?)
- Will a lack of competitive pressure allow the infant industry to become efficient? 
- Would subsidisation of investment or training be a better long-term solution?  
BUT…
- Again there are other policies to improve BOP not just tariffs (e.g. demand reduction, supply-side and exchange rates). We will study these later in the course.. 
Explain the drawback of protectionist policies

1.

2

3.

4.

5.

6.

Hint: Think about the effect on the efficiency of UK firms, cost of imported materials, inflation, Economic growth.  

Tariff diagram

 Answer the questions below with reference to the diagram below (Use algebraic notation where possible in your answer)

1. What is the price of and the quantity of goods sold in the economy before international trade takes place.

2. Why is the world price of a good perfectly elastic?

Assuming international trade takes place

3. What is the total amount of goods imported into the economy before the government places imposes a tariff on imported goods

4. What is the total amount of domestic supply before in the economy before tariffs are imposed?

5. What is the price of goods being imported into the economy before tariffs are imposed?
6. What is the total amount of goods being imported into the economy after the imposition of the Tariff?
7. What is the total amount of domestic supply following the introduction of tariffs?

8. What is the value of the tariff?

9. What is the total tax revenue gained by the government from imposing the tax?

10. What is the decrease (the change in) in domestic output following the introduction of tariffs?

Tariff Diagram 
The diagram below shows the price of steel in a domestic market before and after the imposition of a tariff on steel imports. Use the diagram to answer the questions below.

Assuming that international trade is taking place:-

1. What was the total amount of steel purchased from foreign markets before the imposition of a tariff?

2. What was the total amount of domestic supply before the government imposed tariffs on imports?

3. What was the amount of domestic demand for steel (before the imposition of tariffs)?

4. What was the price of steel that firms in the domestic market had to pay (before the imposition of tariffs)

5. What was the total amount of revenue earned by government from the imposition of the tariffs on steel imports

Stretch and challenge

6. What is the decrease in (change in) consumer surplus following the imposition of a tariff on steel imports

7. What was the value of consumer surplus in the steel industry after the imposition after tariffs were imposed on imports(use a different coloured pen to draw this onto your diagram)

8. What is the increase in producer surplus following the imposition of the tariff

9. Show the area of welfare loss after the imposition of the tariff (Hint: the producers of steel see an increase in producer surplus and the government benefits from increased tariff revenue but where is welfare lost?)

Stretch and challenge (cont)

Subsidy and International trade diagrams

Using the information in the diagram above explain the effect on domestic firms (output) and domestic consumers of an introduction of subsidies from the domestic government.(use units on the x and y axis to fully explain your answer)

……………………………………………………………………………………………………………

……………………………………………………………………………………………………………

……………………………………………………………………………………………………………

……………………………………………………………………………………………………………

……………………………………………………………………………………………………………

……………………………………………………………………………………………………………

……………………………………………………………………………………………………………

……………………………………………………………………………………………………………

……………………………………………………………………………………………………………

……………………………………………………………………………………………………………

European Union Economics 
Starter 
1. Who is president of the European Commission?

2. Who is the head of the European Parliament?

3. Who is the head of the European Council 

4. How many countries are part of the Eurozone?

5. List in order of size the biggest economies in the European Union (largest first)?

6. Name the political leaders of France and Germany?

7. What is the target rate of inflation for the European Central Bank

8. Which country in Europe is the biggest export market for the UK?

9. List 3 forms of protectionism

10. What year did the Euro first go into circulation?

Levels of Economic integration


The Two Main World Trading Blocs

1. NAFTA: a Free Trade Area

The North American Free Trade Agreement (NAFTA) is a regional agreement, formed in 1993, between the Government of Canada, the Government of the United Mexican States and the Government of the United States of America to implement a free trade area.
These three countries have agreed to abolish tariffs between themselves in the hope that increased trade and co-operation will follow. Tariffs were to be phased out between the countries overtime with tariffs between USA/Canada and Mexico to be phased out by 2009. NAFTA members hope with a market similar in size to the EU it will be able to rival the EU’s economic power. 

NAFTA is not a common market. Unlike the EU it does not seek to harmonise laws and regulations. Member countries are permitted total legal independence but must treat all firms from every member country equally. 

2. EU: from a Customs Union to a Single Market 

The EU (or the EEC as it was first known) was formed in 1958 with six original members: France, West Germany, Luxemburg, Netherlands and Belgium. Over time it has been enlarged with its membership to include Eastern Europe (most recently Croatia in 2013).
In 1968 all internal tariffs between members had been abolished and a common external tariff (CET) was put in place; the EU became a customs union. However, the EU had ever grander plans – wishing to become a single market as well as a customs union. The EU has many shared economic policies:

· The Common Agricultural Policy (CAP)

· Regional Policy: providing grants and support to depressed regions of the EU
· Monopoly and Restrictive Practice Policy: common competition policy
· Harmonisation of Taxes: VAT is the standard form of indirect tax in the EU, but there are still variations
· Social Policy & Common Laws: e.g. employment & health/safety 
· Economic Monetary Union: for 19 members of the Eurozone 
WTO and Trading Blocs

The WTO will be in favour of trading blocs in part because they have free trade within them and therefore countries joining increases trade within the bloc. However, they still have protectionism on the outside which conflicts with the WTO’s principles or aim of increased free trade.

Due to the size of trading blocs (e.g. EU and NAFTA) and the protectionism in place between these blocs there can be many disputes. Therefore the WTO will need to settle disputes between trading blocs and between trading blocs and individual countries. 
Institutions of the EU 
· The Commission – based in Brussels. One Commissioner from each country – ours is Sir Julian King. The President is Jean-Claude Juncker (Belgium). This post is a 5 year elected position. The European Commission make policy and pass new laws for the EU.
· The Parliament – based in Brussels and in Strasbourg. MEPs (Members of the European Parliament) represent their country by sitting with other MEPs with the same political affiliation. There are 751 MEPs in total, from which 73 are from the UK. The number of seats a member state has is in proportion to their percentage of EU population. The European Parliament meet up several times a year to discuss the impact of new laws and policies. They appoint the Commission and also approve the annual budget.
· The European Court of Justice – based in Luxembourg. One Judge is appointed from each country. Their responsibility is to interpret and enforce EU law which takes precedence over the domestic laws in member countries. In most cases, member states have to accept the EU ruling. However, on issues of national security and defence, the domestic governments have the first decision, and the European Court of Justice accepts it is subsidiary. 
· The European Central Bank – based in Frankfurt. Mario Draghi (Italy) is the President of the ECB. It administers the Monetary Policy for the Euro Zone – sets interest rate for the Euro Zone and is charged with keeping inflation in the Zone to below 2% whilst keeping it as close to 2% as it can
· The European Council – this is essentially the name given to European Summits, the meetings of Heads of Countries. As well as being important for keeping up to date with World Affairs, these meetings help to form policy and development for the EU. Until recently, the meetings were chaired by the Leaders in rotation by country every 6 months. This group now chooses a President for a two and a half year period. Donald Tusk (Poland) is President.
· The European Council of Ministers – sounds similar to above – and indeed has a similar purpose. The membership of this group is determined by the topic under discussion suggested as being important. For instance, there may be a need to discuss taxes – and the Chancellor would be the Minister to go – or it may be policing and security, so the Home Secretary represents…..


Task: Augment/Annotate the diagrams above to better show the workings of free trade area:-

1. Assign a country to each shape.

2. Use arrows to indicate the free trade (e.g tariffs, quotas and exports subsidies)

3. On the appropriate diagram show that each country has negotiated different tariffs rates with the external world.

4. On the appropriate diagram draw a Common external tariff.






Task: Augment/Annotate the diagrams above to better show the workings of free trade area:-

1. Assign a country to each shape.

2. Use arrows to indicate the free trade (e.g tariffs, quotas and exports subsidies)

3. On the appropriate diagram show that each country has negotiated different tariffs rates with the external world.

4. On the appropriate diagram draw a Common external tariff.

Definitions

A free trade area is a grouping of countries within which tariffs and non-tariff trade barriers between the members are generally abolished but with no common trade policy toward non-members. The North American Free Trade Area (NAFTA) and the European Free Trade Association (EFTA) are examples of free trade areas.

A customs union is a type of trade bloc which is composed of a free trade a free trade area with a common external tariff. The participant countries set up common external trade policy.
A single market Is a type of trade bloc involving more than one nation based on a mutual agreement to permit the free movement of capital, labour, goods and services.
Trade Creation

Use the diagram below to answer questions 1- 4 below.
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Trade creation questions (write your answers to all questions below in the space next to the question) 

1. Indicate the volume of goods bought and supplied before a country starts to trade internationally

2. Indicate the price of goods bought and before a country starts to trade internationally

3. What is the price level in the new member state before joining the custom union?

4. Why do prices fall to Eup after joining the customs union?

5. What is the price level within the customs union for existing member states?  

6. What is the total amount of trade between the new member state and the other European member states after joining the customs union? (you must provide a volume of output)

7. What happens to the amount of output from firms within the new member state after joining the customs union and explain why this is the case? (use the values to develop your answer)

8. What happens to the level of Domestic demand (in the new member county) after the new member state joins the customs union? 

9. Write a short explanation of the trade creation diagram in the space overleaf – REMEMBER – build up you arguments in logical chains
Write a short explanation of the trade creation diagram in the space below – REMEMBER – build up you arguments in logical chains
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Trade Diversion
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Use the diagram above to answer the questions below

1. Before a country ‘A’ joins the Customs Union what is the total supply of goods and services produced by the member state?

2. What is the total value of the domestic demand for goods and services in country A before it joined the customs union?

3. What is the total volume of trade with the world before Country joins the customs union?

4. Why is the world supply curve for goods horizontal?

5.  After joining the customs union what is the price of goods entering country A from outside the customs union.

6. How are consumers in country A affected by becoming a member of the customs union (only use the information in the diagram above) 

7. How are firms in country A affected by joining the customs union?

Extension:  Discuss the answers to the following questions.

1. When do the effects of trade creation and trade diversion take place?

2. What factors determine whether the effects of trade creation are more significant than those of trade diversion?

3. What is the effect on consumer surplus of country A of joining the Customs union?

4. What is the effect on producer surplus in country A of joining the customs union?

Write a short explanation of the trade diversion diagram in the space below – REMEMBER – build up you arguments in logical chains
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Trade creation :In the former case after the formation of economic union, the cost of the goods considered is decreased, leading to an increase of efficiency of economic integration. Hence, trade creation's essence is in elimination of customs tariffs on inner border of unifying states (usually already trading with each other), causing further decrease of price of the goods, while there may be a case of new trade flow creation of the goods between the states decided to economically integrate 
Trade diversion:Trade diversion, when the trade flow is diverted from actually cost-efficient partner state to less efficient one - but which became a member of economic union and made its goods cheaper within a union, but higher compared to the rest of the world. In practice, both trade creation and diversion effects take place due to formation of economic union. Efficiency of economic integration of specific union right now is assessed as a final outcome between trade creation and diversion effects: it is cost-effective in case of prevailing of the trade creation effects, and vice versa.
Regional trading blocks

In recent years there has been a flurry of bi-lateral trade deals between countries and the emergence of regional trading blocs. For example, the European Union now has over 30 separate international trade agreements including those with countries such as Colombia and South Korea.

Some of these deals are free-trade agreements that involve a reduction in tariff and non-tariff import controls to liberalise trade in goods and services between countries. 

The most sophisticated RTAs include rules on flows of investment, co-ordination of competition policies, agreements on environmental policies and the free movement of labour.

Examples of Regional Trade Agreements (RTAs):
The number of RTAs has risen from around 70 in 1990 to over 300 now – this both reflects and reinforces a switch towards greater intra-regional trade most notably between many of the world's fast-growing emerging market economies. No regional trade agreement is the same!

The WTO permits the existence of trade blocs, provided that they result in lower protection against outside countries than existed before the creation of the trade bloc

· European Union (EU) – a customs union, a single market and now with a single currency

· European Free Trade Area (EFTA)

· North American Free Trade Agreement (NAFTA) between the USA, Canada and Mexico

· Mercosur - a customs union between Brazil, Argentina, Uruguay, Paraguay and Venezuela

· Association of Southeast Asian Nations (ASEAN) Free Trade Area (AFTA)

· Common Market of Eastern and Southern Africa (COMESA)

· South Asian Free Trade Area (SAFTA) created in 2006 with countries such as India and Pakistan

· Pacific Alliance – 2013 – a regional trade agreement between Chile, Colombia, Mexico and Peru

· Trans-Pacific Partnership (TPP) - a proposed free trade agreement being negotiated during 2013 between Australia, Brunei, Chile, Canada, Malaysia, Mexico, New Zealand, Peru, Singapore, the United States, and Vietnam

General notes on regional trade blocs

Trade blocs are usually groups of countries in specific regions that manage and promote trade activities. Trade blocs lead to trade liberalisation (the freeing of trade from protectionist measures) and trade creation between members, since they are treated favourably in comparison to non-members. However, trade diversion away from non-members is also likely to occur, especially if protectionist measures are imposed against non-members. Trade diversion contradicts the aims of the WTO and distorts comparative advantage

What are the advantages and disadvantages of joining a single market? (Use the hints box below to help you complete the task below)

	Advantages of joining a Single market
	Disadvantages of joining a single market

	
	




Activity 3: Mark an ‘x’ in the appropriate column to indicate the factors that are relevant to stage of Economic integration
	Stages of integration
	No Internal Trade Barrier
	Common External Tariff
	Factor and Asset Mobility
	Common currency
	Common Economic Policy

	Free Trade Area
	
	
	
	
	

	Customs Union
	
	
	
	
	

	Single/Common Market
	
	
	
	
	

	Monetary Union
	
	
	
	
	

	Economic Union
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Extract A





A man in his mid-40s, identified in reports only as "Bob", was a star programmer earning a six-figure salary at an American infrastructure company. When the company commissioned a network-security audit, they belatedly discovered that � HYPERLINK "http://www.guardian.co.uk/world/2013/jan/16/software-developer-outsources-own-job" �"Bob" had outsourced his own job to a Chinese software company for a fifth of his pay�. Relieved of his workload, Bob would spend his entire office day on the internet, flicking from eBay to Facebook to cat videos, before writing a progress-report email for his bosses and knocking off at 5pm.


17th Jan 2013 Gurdian.








�





�





�





�





Indian Call centre 





  UK Fruit stall





�





�





The world’s best brands 





�





�





�





�





Last week, Costa Coffee announced that, in the face of huge opposition from the community and traders of the Devon town of Totnes, the UK's first � HYPERLINK "http://www.transitiontowntotnes.org/" �transition town�, and in spite of being granted planning permission, � HYPERLINK "http://www.guardian.co.uk/business/2012/oct/25/costa-coffee-totnes-outlet-protests" �they would not be opening after all�. It was a much-celebrated decision, one for which they deserve real credit.


The � HYPERLINK "http://www.guardian.co.uk/business/2012/aug/15/totnes-war-global-capitalism" �campaign in Totnes� focused around arguments that the town has a unique high street economy, characterised by the absence of the "Clone Town Britain" phenomenon seen in so many other places, and a prevalence of independent businesses which, for many other parts of the UK, is but a distant memory. It was argued that the community's economic resilience lies in diversity and local markets, not in long supply chains and distant, remote ownership.


Costa claimed that their store would "add to the vibrancy of the town", adding to the choice already on offer.
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Hint box: How may UK consumers have benefitted from the single market? How might some UK workers have suffered as a consequence of a single market? What might be a consequence for the government’s macro-economic objectives (inflation, unemployment, BOP and Economic growth)? How might firms UK firms benefit from a single market? How might UK firms efficiency change?  What might be the effect on domestic investment from being a member of the single market? What might be the impact on Foreign Direct Investment be from joining the single market?
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